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v2 = 1/2X (xa’ -0. 300) X d2’ =

v3 1/2 X (d1+d2) X (0. 300—e) =

v4d = 1/2X (d1+d2’) X (0. 300+e)

VN = v1+v2+v3+v4 =

0.322 m



(3) &k 4 D6 X 150 X 150

O

A = 2.830%X2.100X111+2. 830X 2. 100X 112
+2. 830 X 1. 500 X 2+2. 830 X 1. 500 X 2
+2. 830 X 1/2X (0. 393+2. 027)
+2. 830X 1/2X (0. 242+1. 876)

W= 19.8X111+19.8x 112
+14. 2 X 2+14. 2X2+11. 4+10. 0

(4) fismexfs (D13 )
W = 7.800X12X27x0.995+5. 300X 12X 2X 0. 995

1348. 7 m*

4494 kg

2641 kg



(5) B
A N— ML

il
i2

Xa =

s
1® spmp
NS

= wltw2+e—0. 220
xa' = wltw2 —e-0. 220
= sh—(w1+w2-0. 220) X il

Shi
dh

e e IR

(Xb, Yb)

ya =
ya’ = sh—(wl+w2 —0.220) Xi2
yb = yatbl+b2+b3
yb’ = ya’ +b1+b2+b3
f1 = dh-h
vl = 0.800X (dh-h)
f2 = h-yb
2 <0 &V
v2 =
2 = h-yb’
f22< 0 £V
v2 =
1.0m¥4 Y v = vi+v2+v2’

V = vX105.0

27N T E
1R1] R =
R HE KA R 0
i i iy
HOE W B
o e R B
O m R
a7 Y — MR
BB OB E
iz ES =

(yb+dh—=2 X h) X (xa—0.400) X 1/2

(yb’ +dh—2Xh) X (xa’ —0. 400) X 1/2

DN DN = =

.800 m
.100 m
.20l m
.024 m
.750 m
500 m
500 m
150 m
000 m
.150 m

OO0 OO O NN

-1.500 %
-1.500 %
3.054 m
3.006 m

. 845450 m
. 845450 m
. 145450 m
. 145450 m

0.101 m
0.081 m’/m

. 045450 m

0.194 m*/m

. 045450 m

0.191 m*/m
0. 466 m’/m
48. 930 m3



(6) HIE I H Ho

fwe B O HoM B #
8. 0m4 v

2 | IR - SHE| B Ho& | M

ZiN 8
B A IN— D22 X 1000

kg 24. 3
HEAH #AS kg 3.4
Bigk~A > b m’ 0.1

T K — t=40mm m 8.0




e H M
3000
S0 L]
FAEME gl
B M3 AN jEeEsEss D13
2 3 S = A A =
= 1 I 450 450 N | )
\ N R o si— D22 = 10090
| 10|
F I e M = B3 H=50
B A IN— (D22 X 1000)
N

W = 3.04kg/mX<1.000X8
ENH HiAS

W = 1070kg/m3 0. 010X 0.040X8.0 =

Bhgk~~A > b

A = 7 X0.022X0.100X8
T B — ( t=40mm )
L

8.0m¥4 v

8 A
24.3 kg

3.4 kg
0.1 m*

8.0m



B o# B OB *
10. Om*4 V)

2 | IR - SHE | B Ho& | M

TEA H Hids kg 4.3

H Hi 4k t=10mm m’ 1.1




B #h 10. 0m4 »

A B #hdt E HiiR

// //#‘mfﬁ-:ﬁi;% Did
o A S

9

150

90 | &4

TEN B H#ibs
W = 1070kg/m3 0. 010X 0. 040X 10. 0

4.3 kg

HHitk ( t=10mm)
A =0.110X10.0 = 1.1m



Mok B bR R

LEEFT 9

£ | BAR - TR | BOAL OB | o=

ZiN 18
Ay Loi—|[ ¢ 28 X700

kg 60. 9
s A — | D13 kg 45. 1

& 36
F T — D13 0. 380

kg 13. 6
Fy v ¢ 28 & 18
H H t=25mm m’ 0.7
HEAH #AS kg 6.5
Bigk~A > b m’ 0.2
B H M m” 0.5




Mk B i NERIER)

700

350 , 350
ﬁw-y:f\ Emui_\zi‘ SEA BN
e = | 2
18 1 N =
m/ 84 2o PR 200 | 138 N
HSOReA— D13/ \! 49 DG
Fr7— D3 LrgE A Lo b AT A— 28 %700

7 Loi— (¢ 28X700)
N = 18 A
W = 4.83kg/mx0.700Xx18 = 60.9 kg
J A N— ( D13)
W = 0.995kg/mX (2. 830+2. 830) X8 = 45. 1 kg
F T — D13X0. 380
N = 36 &
W = 0.995kg/mXx0. 380 X 36 = 13.6 kg
Fyv/
N = 18 &
H Hitk
A = 0.110X (3. 030+3. 030) = 0.7m"
AR HAS
W = 1070kg/m3 X (3. 030+3. 030) X 0. 025X 0. 040 = 6.5 kg
Wids~A > bk
A = 7 X0.028X0. 100X 18 = 0.2m"

A = 7 X0.028X0.300X18 = 0.5m



RRIHE B B (FTIA 2 B )

LEEFT 9

% ROl AR - SR BONL BoE | ==

VN 18
Ay Loi—|[ ¢ 25X 700

kg 48.5
7 a A N— D13 kg 45.1

1= 36
F T — D13X0. 330

kg 11.8
HEAH #AS kg 2.6
Bigk~A > b m” 0.1
B H M m” 0.4
N 77 7R t= Hmm m’ 0.5
T B — t=40mm m 6.1




BRI B (FTIAZ H Hb) NERIER)

100
354 3540

Ji"yb?‘yﬁ#SX?S\1i_ A BihdE

==
w2/ E 5
EEH B4
£k 06

2'n

150
35 60

1 151 150 | 144

SOXRSA— DY 4

FP— I3 [k e HraT ilisi— @25 % 700

A7 )Lox— (¢ 25X700)

N = 18 A
W = 3.85kg/mXx0.700X18 = 48.5 kg
7 A IN— ( D13 )

W = 0.995kg/mX (2. 830+2. 830) X8 = 45.1 kg
F 7 — (D13 X% 0. 330)

N = 36 &
W = 0.995kg/mXx0. 330 X 36 = 11.8 kg
ENH Hif

W = 1070kg/m3 X (3. 030+3. 030) X 0. 040X 0. 010 = 2.6 kg
Bhgs~A > b

A = 7 X0.025X0.100X 18 = 0.1 m*
TEEH

A = 7 X0.025X%0.300X 18 = 0.4 m*
N 7T o T

A = 0.075X% (3.030+3. 030) = 0.5 m’
o A — ( t=40mm)

L = 3.030+3.030 = 6.1m



RRILHA H k2 (BIHI H Hh)

LE#FT 9

pa | BAR - TR | BT OB | M o=

ZiN 18
Ay Loi—|[ ¢ 25X 700

kg 48.5
7o A — | D13 kg 45. 1

& 36
F T — D13 0. 330

kg 11. 8
HEAH #AS kg 4.5
Bigk~A > b m’ 0.1
B H M m” 0.4
Tl B — t=70mm m 6.1




R e (BIH E )

1T 9

]
7

1
90 80

hiil i

A B S |
FOFES— M3 4

FzF— D13

A7 LN — (¢ 25X700)

N

W = 3.85kg/mXx0.700X 18

7 A IN— ( D13)

W = 0.995kg/mX (2. 830+2. 830) X8
F T — (D13 X% 0. 330)

N

W = 0.995kg/mX<0. 330 X 36

ENH Hif

W = 1070kg/m3 X (3. 030+3. 030) X 0. 070X 0. 010
Bhd~A > b
A = 7 X0.025X0.100X18

JEH A
A = 7 X0.025X0.300X18
71 B — ( t=70mm)

L = 3.030+3.030

\N
N\ k8 06

FrpTisi— @ 25700

18 A
48.5 kg

45.1 kg

36
11.8 kg

4.5 kg
0.1m
0.4m

6.1m



MZEEE H HpP Rl

LR 9

‘ B &

i 18 18
& 2 43— D29 X0. 700

kg 63.5 63.5
Ja A /N— D13 kg 22.5 26.0

1 18 18
F =T — D13 X0. 330

kg 5.9 5.9
HA B ks kg 2.6 3.0
Bidk~=1 > b m’ 0.2 0.2
T7 v K — t=40mm m 6.1 7.0




Bz o4 B LTS
& SR L=6. 06m
F& SR L=7. 00m

700

S50

FRIZTA-F&
£ 4 i I RE

ij
.
P
P
b
B 5
|é
T% I
-
L2
2
»
:,.4
E
u
v
LT
|
-
=

= ) A =
oG] 15 0 L&'
rez—m

HRUSFEL A N— ( D29 0. 700)
N = 18 A&
W = 5. 04kg/mXx0. 700 X 18 = 63.5 kg
7 A N— ( D13)
B SR W = 0.995kg/mX (2. 830+2. 830) X 4 = 22.5 kg
FEEA W = 0.995kg/mX (3. 270+3. 270) X4 = 26. 0 kg
FrT — (D13 X 0. 330)
N = 18 A
W = 0.995kg/mx0. 330 X 18 = 5.9 kg
HEAH Hikf
B SR W = 1070kg/m3 X (3. 030+3. 030) X 0. 040 X< 0. 010 = 2.6 kg
&AW = 1070kg/m3 X (3. 499+3. 499) X 0. 040X 0. 010 = 3.0 kg
Bhgs~A > b
A = 7 X0.029%0.100X 18 = 0.2 m*
o A — ( t=40mm)
E Rl L = 3.030+3. 030 = 6.1m

WS L = 3.499+3. 499 = 7.0m



(6) 90 >iFhi

ERURCIPI R =
A8 Y
¥ B
ZI i//]: ﬂ:gllj( . ﬂ‘/ﬁ E {lL @)ﬁ’fﬁu ﬁ‘é‘}ﬁﬁﬂ /El\ g j:ﬁf] g
m” 30. 3 30. 3 60. 6
a7 J— k| obk=4.4MPa
m’ 4. 55 4.55 9.10
ALk m’ 30. 3 30. 3 60. 6
s L E LR
t=15cm m’ 4.5 4.5 9.0
m” 28. 1 28. 1 56. 2
G\ D13-200 X 200
kg 294 317 611




T DIFhi

LTS Y

F AT 7 i 5 BY TR S L=5000 b
|
"+
L=y =2
ZAN N
PN _ 9
[
I
35050
101 2411200—4800 | 100
a7 Y — MR

A =(3.030+3. 030) X5. 000
V = 30.3X0.150

K
A
v

i

(3. 030+3. 030) X 5. 000
= 30.3X0. 150

I

= 5.860 X 4. 800
Ll
& s ARl

- oy
RET L

= 30. 3 m’
= 4.55 m’

= 30. 3 m’
= 4.5 m’

= 28. 1 m*
W= 294 kg
317 ke

=
|



10-2. 2227 U — M (BE AR B )

a7 ) — NEEE (LA AR AL ) R 5
E)
e
4 N FAR i (& 1) | G5 ) 2
BEAJER BT R
) 121.8 132.8 254. 6
ay s U—‘]‘Hﬂ GCkZISN/mm
=70 8. 53 9.30 17.83
115.6 126.6 242. 92
iz i t=100

11.6 12.7 24. 3
b 390.1 43.7 82. 8
A B Hh 44, 0 48. 5 92.5




B A AR A LS T (2 ) 2R 5T

st

e B

4 7N TER A B AL Ao b EL| v D oo

coyy— | 0 ck=18N/mn® |’ 56. 4 65.4]  121.8
t=70
m’ 3.95 4. 58 8. 53
e i =100 m’ 53.17 61.9 115.6
(=} dsiig -
m’ 5.4 6.2 11.6
i m’ 16. 6 22.5 39. 1
I B — t=35 m 20. 4 23.6 44.0
A H Hibt kg 7.6 8.8 16. 4
H Hi #x £=20 m” 0.1 0.1 0.2
B A SRR A T () S 3F 3R
A Y
S &

% %ﬁ: ﬂ:fllj:ﬂ‘{i E {lL Ao L 4o Y j’ﬁg]‘ g

wo sy — hpg| o ck=18N/mn’ m” 61.5 71.3 132.8
t=70
m’ 4. 31 4. 99 9. 30
P . £=100 m’ 58. 8 67.8 126. 6
= i -

m’ 5.9 6.8 12. 7
fib m’ 18.3 25. 4 43. 7
W B — t=35 m 22. 2 26. 3 48.5
TEA H Hibt kg 8.3 9.9 18.2
H #f1 #K £=20 m’ 0.2 0.2 0. 4




(1) BEA LS T (ZEH0)

a7 U— M (t=70)

A= MEL

il
WN
xa
ya
vb
(x+x

A4
T

(R1-R2) X cos 0

= —wl-w2-e—0. 205
—sh+ (w1+w2-0. 220) X i1+0. 252

5)

ya—0. 070

“2+(y-y5) 2 = R5 2

y-ya = —0. 02X (x—xa)

(x+x5) "2+ (y-yb) "2 = R5°2

y-yb = -0. 02X (x-xa)

Bl
B2
Bav
A

V

xa—xc
xa—xd

1/2 % (B1+B2)
BavX105.0
AX0.070

I

i)

i)

R1

R2 =
R3 =

R5

w2

xb =

vb

XcC
ycC

xd

sh

2.
-1.

5.560 m
3.720 m
7.440 m
1.531 m
75.0 °
1.800 m
0.024 m
2.750 m
0.500 m
536639 m
226017 m

—1.500 %
0.476 m
-3.479 m

. 593450 m
. 663450 m

. 025554 m
. 582519 m

. 006924 m
. 652892 m
. 546554 m
. 527924 m
. 537239 m

56. 4 m”
3.95 m’



A= FHY

O
>ﬁ%/
H

v

S
\LEE

g
ik
\ g

=~
N B

5/

= =
| Haf

HO
B 0 00 e Tk N RN

WREIANT®R AT

o
B I fmk

L

o

._[

BN

-
=

B1

T

B2

=]
b
il

WN = (R1-R2) Xcos 0

xa = —wl-w2—e—0.205

ya = —sh+(wl+w2-0.220) X i1+0. 252

yb = ya—-0.070

(x+x5) "2+ (y-yb) "2 = R5°2

y-ya = —0. 02X (x—xa) i)

(x+x5) "2+ (y-yb) "2 = R5°2

y-yb = -0. 02X (x—xa) i)
Bl = xa—xc

B2 = xa—xd

Bav = 1/2X (B1+B2)

A = BavX122.0

V. = AXO0.070

R1

R2 =
R3 =

R5

w2

sh

xb =

vb

XcC
ycC

xd

5.560 m
3.720 m
7.440 m
1.100 m
75.0 °
1.800 m
0.024 m
2.750 m
0.500 m

2. 958260 m
—1.315443 m

—1.500 %
0.476 m
-3.479 m
—1. 593450 m
—1. 663450 m

4. 025344 m
—1. 582523 m

= —4.005211 m

1. 652926 m
0. 546344 m
0.526211 m
0. 536278 m
65. 4 m”
4,58 m’



B % (t=100)

A N — NEL
BT — T
b AR BE S P 2R
B S S
m LR WE P 2R
b AR RE S A R
A Y T E
1 i =
HOE OB B
¥ B W A
7 L hRmE oL R
]
B2
o d
E"_f 2
83
—
il

WN = (R1-R2) Xcos 0

xb = —wl-w2-e—0. 205

yb = —sh+(wl+w2-0. 220) X i1+0. 252-0. 070
ye = yb—0.100

(x+x5) "2+ (y-y5) "2 = R5 2

y—yb = -0. 02X (x—xb) i)
(x+x5) "2+ (y-y5) "2 = R5 "2

y-ye = —0. 02X (x—xb) i)
B2 = xb-xd

B3 = xb—xf

Bav = 1/2X (B2+B3)

A = BavX105.0

V AX0.100

xd

xf
yf

5.560 m
3.720 m
7.440 m
1.531 m
75.0 °
1.800 m
0.024 m
2.750 m
0.500 m
2.536639 m
—-1. 226017 m

-1.500 %
0.476 m
-3.479 m

-1. 663450 m

—1. 763450 m

—4. 006924 m
—-1. 652892 m

—-3.973882 m

1. 753552 m
0.527924 m
0. 494882 m
0.511403 m
53.7 m”
5.4 m



A= hEY

O
>ﬁ%/
H

v

S
\LEE

g
ik
\ g

=~
N B

5/

= =
| Haf

HO
B 0 00 e Tk N RN

WREIANT®R AT

Y

B I fmk

L

o

._[

BN

-
=

B2

ot ¢
S
=

B3

a
il

WN = (R1-R2) Xcos 0

xb = —wl-w2—-e—0. 205

yb = —sh+(wl+w2-0. 220) X i1+0. 252-0. 070

ye = yb—-0.100

(x+x5) "2+ (y-yb) "2 = R5°2

y—yb = —0. 02X (x—xb) £
(x+x5) "2+ (y-yb) "2 = R5°2

y-ye = —0. 02X (x—xb) i)
B2 = xb—xd

B3 = xb—xf

Bav = 1/2X (B2+B3)

A = BavX122.0

V. = AXO0.100

R1

R2 =
R3 =

R5

w2

sh

xb =

vb

5.560 m
3.720 m
7.440 m
1.100 m
75.0 °
1.800 m
0.024 m
2.750 m
0.500 m

2. 958260 m
—1.315443 m

—1.500 %
0.476 m
-3.479 m
—1. 663450 m
-1. 763450 m

-4.005211 m
—-1. 652926 m

-3.967192 m
~1. 753686 m
0.526211 m
0. 488192 m
0. 507202 m
61.9 m”

6.2 m’



b

A N — NEL

il
WN
xe

ye

yg

NN

S
=
=

B3

N bl b
R H R

Wh —1 5% {8 30

g R

1 ﬂ\{_\

N B oog
R

)
[
RN

~ HO

DR

o

(R1-R2) X cos 0
-wl-w2—e—0. 205

I

4
bﬁ

—sh+ (wl+w2-0. 220) X i14+0. 252-0. 170
(x+x5) "2+ (y-y5) "2 = R5 2
y-ye = —-0.02X (x—-xe)

- h
sin -1{(y5-yg) /R5}

Bl =
B2 =

Xg
B3
B4
d1
d2
vl
v2
v3

v

i)

B 1-sin —1{(y5-yf) /R5}
= —-R6bXcos B 1-x5
= xe—xf

Xe—Xxg

= ye-yg
= yf-vyg
= 1/2XB3Xxd1

1/2XB4 X d2

xf
yf

1/2X B2XR5°2-R5"2Xsin(B2/2) Xcos(2/2)
v4d = 0. 065X (ye—0. 080-yg)
(v1+v2+v3+v4) X 105. 0

5.560 m
3.720 m
7.440 m
1.531 m
75.0 °
1.800 m
2.100 m
0.024 m
2.750 m
0.500 m
0.209001 rad
2. 536639 m
-1. 226017 m

-1.500 %
0.476 m
-3.479 m
. 763450 m

. 973882 m
. 753552 m
-2.100 m
0. 607550 rad
0. 255770 rad
3. 793665 m
0. 494882 m
0. 314665 m
0. 336550 m
0. 346448 m
0.083 m°/m
0. 055 m*/m
0.003 m’/m
0.017 m*/m
16.6 m



A= FHY

il
WN
xe

ye
y—ye

yg

Bl =
B2 =

Xg
B3
B4
dl
d2
vl
v2
v3
v =
V

4%
N
[
i
ﬁmﬁ
X

WARBIENER AL

B3

e

L

[=]

| dll

(R1-R2) X cos 0
-wl-w2-e—0. 205

—sh+ (w1+w2-0. 220) X i1+0. 252-0. 170
(x+x5) "2+ (y-yb) "2 = R5°2

-0. 02 X (x—xe)

yve—0. 495

i)

sin =1{(y5-yg) /R5}
B 1-sin ~1{(y5-yf) /R5}

—R5X cos B 1-x5

= xe—xf

= Xe—Xxg
= yeyg

yf-yg

= 1/2XB3xdl
= 1/2XB4 X d2
= 1/2X B2XR52-R5"2Xsin(B2/2) Xcos(B2/2)

0

.065X0. 415

= (v1+v2+v3+v4) X 122.0

A=

R1

R2 =
R3 =

R5

sh =

wl

w2 =
a?l =

vb

xf
yf

5.560 m
3.720 m
7.440 m
1.100 m
75.0 °
1.800 m
2.100 m
0.024 m
2.750 m
0.500 m

0. 209001 rad
2. 958260 m
—1.315443 m

—1.500 %
0.476 m
-3.479 m
. 763450 m

. 967192 m
. 753686 m
. 258450 m
1. 029961 rad
0. 620186 rad
. 524598 m
0. 488192 m
0. 045598 m
0. 495000 m
0. 504764 m
0.121 m*/m
0.012 m*/m
0.024 m°/m
0.027 m*/m
22.5 m’



I fE HoHb

7 & — (£=35mm)

A N — NEL
A = 0.537 CEH&EZ0E) X 38 ffT = 20.4 m
A NN—=FED
A = 0.536 CE¥IERRIE) X 44 f&PT = 23.6m
A B ks
A N— NEL
W = 1070kg/m3X0. 010X 0. 537 CEXJEHRIE) X 0. 035 X 38 Fr = 7.6 kg
A=+ EDY
W = 1070kg/m3X0. 010X 0. 536 CEYJEHFRIE) X 0. 035 X 445 FT = 8.8 kg
fZ 5k H #h
H#iAk  (t=20mm)
A N — NEL
L = 0.537 CEEJERRME) X 4 &7 = 2.1m
A=2.1 X 0.070 = 0.1m
A= EDY
L = 0.536 CREI&ERME) X 4 fE&AT = 2.1m
A=2.1 %X 0.070 = 0.1 m*



(2) BEAERELE T CHH)

a7 U— M (t=70)

I

Bi
a| G
h g F
B2
1

—sh+ (wl+w2-0. 220) X i2+0. 252

A N— NEL

i2

WN = (R1-R2) Xcos 0
xa = wl+w2—e+0. 205
ya =

yb = ya—-0.070

(x—x4) "2+ (y-y4) "2 = R5°2

y-ya = 0. 02 X (x—xa)

(x—x5) "2+ (y-yb) "2 = R5°2

y—yb = 0. 02 X (x—xa)

Bl
B2
Bav
A

V

xc—xa
xd—xa

1/2 % (B1+B2)
BavX105.0
AX0.070

i)

i)

xb =

vb

Xc
ycC

xd

= 5.560 m
= 3.720 m
= 7.440 m
= 1.531 m
= 75.0 °
= 1.800 m
= 0.024 m
= 2.750 m
= 0.500 m
2. 536639 m
= -1.226017 m

= —1.500 %
= 0.476 m
= 3.431 m
= —-1.593450 m
= —1.663450 m

= 4.025784 m
= —1.581554 m

4.007204 m
= ~1.651926 m
= 0.594784 m
= 0.576204 m
0. 585494 m
61.5 m’
= 4.31 m’



A= FHY

i2
WN
xa
ya
vb

(x—x4) "2+ (y-y4) "2 = R5°2

WREIANT®R AT
N
=
\

B!

(R1-R2) X cos 0
wlt+w2—e+0. 205

B2

—sh+ (wl+w2-0. 220) X i1+0. 252

ya—0. 070

y-ya = 0. 02 X (x—xa)

(x—x5) "2+ (y-yb) "2 = R5°2

y—yb = 0. 02 X (x—xa)

Bl
B2
Bav
A

v

xc—xa
xd—xa
1/2 X (B1+B2)
BavX122.0
AX0.070

£V

i)

R1

R2 =
R3 =

R5

sh

w2

xb =

vb

XcC
ycC

xd

= 5.560 m
3.720 m
7.440 m
= 1.100 m
= 75.0 °
= 1.800 m
= 0.024 m
= 2.750 m
= 0.500 m

2. 958260 m
—1.315443 m

= —1.500 %
= 0.476 m

3.431 m
. 593450 m
. 663450 m

= 4.025585 m
. 581558 m

4. 005521 m
= -1.651960 m
= 0.594585 m
= 0.574521 m
0. 584553 m
71. 3w’
= 4,99 m®



B % (t=100)

A N — NEL

4
I
"N
s
4

B EE N R b
ey
=
A

i2
WN = (R1-R2) X cos 6

xb = wltw2—e+0. 205

yb = —sh+ (wl+w2-0. 220) X i1+0. 252-0. 070
ye = yb—0. 100
(x—x5) "2+ (y-y5) "2 = R5 "2

y—yb = 0. 02 X (x—xb) i)
(x—x5) "2+ (y-y5) "2 = R5 "2

y-ye = 0. 02X (x—xb) !
B2 = xd-xb

B3 = xf-xb

Bav= 1/2X (B2+B3)

A = BavX105.0

V AX0.100

*H
=
g
N g
TH I R AN NN R

xd

xf
yf

5.560 m
3.720 m
7.440 m
1.531 m
75.0 °
1.800 m
0.024 m
2.750 m
0.500 m
2.536639 m
—-1. 226017 m

-1.500 %
0.476 m
3.431 m

—-1. 663450 m

—-1. 763450 m

4.007204 m
—-1. 651926 m

974237 m
. 752585 m
. 576204 m
. 543237 m
. 559721 m

58.8 m”

5.9 m’

O O O = W



A= FHY

i2
WN
xb
yb
ye

(x—x5) "2+ (y-yb) "2 = R5°2
y-yb = 0. 02 X (x—xb)

(x—x5) "2+ (y-yb) "2 = R5°2
y-ye = 0. 02X (x—xb)

B2
B3

Bav

A
V

4%
N

[
i
ﬁmﬁ
X

WREIANT®R AT
N
=
\

B2

(R1-R2) X cos 0
wlt+w2—e+0. 205

—sh+ (wl+w2-0. 220) X i1+0. 252-0. 070

yb—0. 100

xd—xb

xf-xb

1/2X (B2+B3)
BavxX122.0
AX0.100

£V

i)

R1

R2 =
R3 =

R5
sh
w2

x5
vb

= 5.560 m
3.720 m
7.440 m
= 1.100 m
= 75.0 °
= 1.800 m
= 0.024 m
= 2.750 m
= 0.500 m

2.95826 m
—1.315443 m

= —1.500 %
= 0.476 m
= 3.431 m
= —-1. 663450 m
= —1.763450 m

= 4.005521 m
= —-1.651960 m

3.967612 m
= -1.752718 m
= 0.574521 m
= 0.536612 m
0. 555567 m
67.8 m”
= 6.8 m’



b

A N — NEL

i2
WN =
xe
ye
" (x

y—ye

vg =
B 1=

Xg =
B3 =
B4 =
dl =
d2 =
vl =
v2 =
v3 =
v4 =

cgﬁﬁgl
N

og

==

S

X

M bl A b
N

T H

S
=
=

)
[

~ HO

Wh —1 5% {8 30

DR

B3

d1
d2

(R1-R2) X cos 0

= wlt+w2—e+0. 205

—sh+ (wl+w2-0. 220) X i1+0. 252-0. 170

x5) "2+(y-y5) "2 = R5°2

= 0.02X (x—xe) i)

-h
sin —1{(y5-yg) /R5}

= B1-sin -1{(y5-yf) /R5}

R5 X cos B 1+x5

xf-xe

Xg—xe

ye-yg

vi-yg

1/2XB3 X d1

1/2XB4 X d2

1/2X B2XR52-R5"2Xsin(B2/2) Xcos(p2/2)
0. 065X (ye—0. 080-yg)

= (v1+v2+v3+v4) X 105.0

xf
yf

5.560 m
3.720 m
7.440 m
1.531 m
75.0 °
1.800 m
2.100 m
0.024 m
2.750 m
0.500 m
0.209001 rad
2. 536639 m
-1. 226017 m

-1.500 %
0.476 m
3.431 m

. 763450 m

3.974237 m
. 752585 m
. 100000 m
0. 607550 rad
0. 256443 rad
3. 793665 m
0. 543237 m
0. 362665 m
0. 336550 m
0. 347415 m
0.091 m*/m
0.063 m°/m
0.003 m’/m
0.017 m*/m
18.3 m’



A= FHY

i2
WN
Xe =
ye

WARBIENER AL

(R1-R2) X cos 6
wlt+w2—e+0. 205
—sh+ (wl+w2-0. 220) X i1+0. 252-0. 170

(x—x5) "2+ (y-yb) "2 = R5°2

y—ye

yg =
B 1=
B 2=
Xg =
B3 =
B4 =
dl =
d2 =
vl =
v2 =
v3 =
v =
vV =

= 0.02X (x—xe) i)
yve—0. 495

sin —-1{(y5-yg) /R5}

B 1-sin -1{(y5-yf) /R5}
R5X cos B 1+x5

xf-xe

Xg—xe

ye-yg

vi-yg

1/2XB3Xdl

1/2XB4Xd2

1/2X B2XR52-R5 2Xsin(B2/2) Xcos(B2/2)
0. 065X0. 415
(v1+v2+v3+v4) X122.0

R1

R2 =
R3 =

R5

sh =

wl

w2 =

o2

vb

xf
yf

5.560 m
3.720 m
7.440 m
1.100 m
75.0 °
1.800 m
2.100 m
0.024 m
2.750 m
0.500 m

0. 209001 rad
2. 958260 m
—1.315443 m

—1.500 %
0.476 m
3.431 m

. 763450 m

3.967612 m
. 752718 m
. 258450 m
1. 029961 rad
0. 621145 rad
3. 524598 m
0.536612 m
0. 093598 m
0. 495000 m
0. 505732 m
0.133 m°/m
0.024 m*/m
0.024 m°/m
0.027 m*/m
25. 4 m’



I fE HoHb

77 A — (£=35mm)
A N — NEL
A = 0. 585 CE¥%IEHRRIE) X 38 T
A NN—=FED
A = 0. 585 CE¥IEHRRE) X 45 T

TEN B Hiks
A N — NEL
W = 1070kg/m3X0.010 X 0. 585 (CEHJ&H% ) X 0. 035 X 38f4 AT
A R— R ED
W = 1070kg/m3 X< 0. 010X 0. 585 (LHJEHFRME) X 0. 035 X 45 AT

i ik B He

H HBk  (t=20mm)
A N — NEL
L = 0.585 CREEReNE) X 4 f&pr
A=2.3 X 0.070
A= ED
L = 0.585 CEY&HRNE) X 5 f&pr
A=2.9 X 0.070

22.

26.

S DN

S DN

2m

3m

.3 kg

.9 kg

.3m
.2m

.9m



10-3. B mHEK T

B AK TR IR R

Y

T i X g B iz | % ] C
AN — REEL m 206. 0
MK
A NR—FED m 240. 0
AN — ML & P 4
YN
A= FED & T 4
28] 3
i, H R m 30. 6
= 3
MR L FERID m 70
MK DI R
FEAE A /3 — N L GEF B OJLNE L2 VWMIlOEE 2 & 1)
L=105.0X2-1.0X4 =  206.0m
FEHEER A 3 — NA D GEFEEES OYaE L 22V MAl O IERE 2 & Te)
L=122.0X2-1.0X4 = 240.0 m
PRIRAE T
MK
V=1.447/10.0X206.0 = 29.8 m3
YN
V=2.045/10. 0% 4 = 0.8 m3
JINEF 30.6 m3
MR LR
[REFi NS
V=0.317/10.0X206. 0 = 6.5 m3
£E Kt
V=1.168/10. 0 X4 = 0.5 m3
- 7.0 m3




Mg K B M Ok &

10. 0m24 v
44 B JER - ~TE| B fir| %% = | fii 2
. TR AL,
Pqﬁ§7kf‘t% ® 200 ﬂﬁl 5
Hpggay 7 ) — K 18-8-40 m’ 0. 56
O R R m’ 2.0
'L Z L 1:2 m’ 0.11
R IS A5371
BT a oy o fiE 16. 5
e L Z L 1:2 m’ 0. 02[sr7 1 v m
TV —F T T-25 {i# 10.0
A VS—
K m’ 1. 4| Lo DA
3t |-
A R—
MWEREL m’ 0. 3| LORRE D2
3t |-




MK (10. 0m24 V) )

360

140 B0 140

250

383

= 0

370

100 rﬂ

(D) MHEARE (—&ES ¢ 200)
=10.0/2.0

Q) =7 — |
=0.560X0.100X10.0

(3) JLAHAR
=0.100X2X10.0

4) B+ L% )
=0.360X0.030X10.0

B)FERTH v s
=10. 0/0. 605

(6) HrE /L& L
=0.140X0.015X%X10.0

(D7 v—Fo 7
=10.0/1.0

1GD|BO‘ 200 |8\'J|100

50

5

0.560 m’

2.000 m”

0.108 m’

16.5 f#

0.021 m’

10 &



(8) IR

A N— K7L
e
7Y T & sh
A ki ] h
LT R | wl
Pl 3 [ = I = | w2
P [ = = | w2’
sk il
il
ya = —sh+(wl+w2-0. 220) Xi1-0. 513
10m%4 Y vn = (-h-ya) X0.560X10.0
paglil!
i2
ya = —sh+(wl+w2’ -0. 220) X i2-0. 513
10m%4 Y vn’ = (-h-ya) X0.560X10.0
)
10m34 » V=(vnt+vn’ ) /2
(QHE L
AN — R L
|2 ’|
\—Ia\ ’/al—l
b S A N A~ sh
A ki ] h
H 18 ) = wl
A ¥ B E A w2
p [ = I = | w2’
sk il
il
ya = —sh+(wl+w2-0. 220) Xi1-0. 513
10m24 Y
vn =(-h—ya—-0. 100) X 0. 200X 10. 0
Pl
i2

ya' = —sh+(wl+w2’ -0. 220) X i2-0. 513

10m34 »

vn’ =(~h-ya’ —0. 100) X 0. 200X 10. 0

T

10m34 » Vave = (vnt+vn’)/2

1. 800 m
2.100 m
2.750 m
0.500 m
0.500 m

-1.500 %

. 358450 m

1. 447 m°

-1.500 %

. 358450 m

1. 447 m°

1. 447 m’

1. 800 m
2.100 m
2.750 m
0.500 m
0.500 m

-1.500 %

. 358450 m

0.317 m°

-1.500 %

. 358450 m

0.317 m’

0.317 m’



£ SOV B S

L0f&AT4 1

4 g Jdk-~HyE| M | B B | R o=
TR,
£k Ht 6 200 & 10
Hpggay 7 ) — K 18-8-40 m’ 0.18
ety m’ 3.51
'L Z L 1:2 m’ 0.11
BER7a v 250H 1 10
TL—F T-25 & 10
A N— N
K m’ 2. 0|LoXMDH
3 b
A VS—
PR L m’ 1.2|LoXM DA
3t |-




FRME (10T V)

500

630

] 60 40 100

560 ‘

(1) &kt (ZkBdh ¢ 200)
N

Q) = 7)) — K
V = 1.195X0.560X0. 100X 10. 0

(3) JLAHAR
A =0.100X (1. 195+0. 560) X2 X 10.0

4) B+ L% )
V =0.360X0.030X0.995X10.0

G)ERTa v
N =

©) 7v—Fo 7
N

10

0.180 m’

3.510 m”

0.107 m’

10

10 £



(7) IR

I
T
- J\L‘_

— — \ ——
\ (i — — - — —
T T T
a a -
S A B A= sh = 1.800 m
18] B = h = 2.100 m
T B | wl = 2.750 m
Pl | = I S = | w2 = 0.500 m
p [ = I = | w2 = 0.500 m
AN — k7L
ZEAH]
il = ~1.500 %
ya = —sh+ (wl+w2-0. 220) X i1-0. 730 = —2.575450 m
10524 Y v = (~h-ya) X0.360X1.195X10 = 2. 045 m’
eyl
i2 = ~1.500 %
ya' = —sh+(wl+w2’ 0. 220) X i2-0. 730 = -2.575450 m
05T » v = (~h-ya’) X0.360X1.195X10 = 2. 045 m’
T4

0TS Y V= (viv')/2 = 2.045 m’



(8)HHE L

[
|

g
|
|
|
|
|

gk ——  — — 7
=t — — — — — T
L L
a d
A7V v T sh =
(il ki ] h
H 18 ] = wl =
£ B O E OB w2 =
A OB O E B w2’ =
A N— 2L
ZEAH]
il =
ya = —sh+(wl+w2-0. 220) X i1-0. 730 = -2
IUEBIER)
vn =(h+ya—0. 100) X (0. 560X 1. 195-0. 360X 0. 995) X 10 =
paglil
i2 =
ya = —sh+(wl+w2’ -0. 220) X i2-0. 730 = -2

10F& T 1

vn’ =(h+ya’ 0. 100) X (0. 560X 1. 195-0. 360 X 0. 995) X 10
Y

1065 AT » V=(vnt+vn ) /2

1. 800 m
2.100 m
2.750 m
0.500 m
0.500 m

-1.500 %

. 575450 m

1.168 m’

-1.500 %

. 5756450 m

1.168 m’

1.168 m’



